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Important Instructions :
1) All questions are compulsory.
2) Q. Nos. 1to 10 of 2% marks each, Q. No. 11 to 20 of 3% marks

each and Q. No. 21to 25 of 5 marks each.
3) Draw the diagrams of Geometrical questions.

9T —%  Section -A
867 3R 225 @I HCF gfdels e TIRem &1 YA dRd =id

DI |
Use Euclid’s algorithm to find the HCF of 867 and 225.

Rrg AT 5 3 + 2 V5 Ta rufe wvarr 2
Prove that3 + 25 isirrational.

FrefeRaa iRl Marr @ gfaeenid s & g HIfoiy |
3x-y=3
Ox -3y =9
Solve the following pair of Linear or Equation by the Substitution
Method.
3x-y =3
Ix-3y =9
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K &1 |4 =ird #ifsg afe fgara |diiaxer 2x2 + Kx +3 =0 & 9o aRTeR
&l |

Find the value of K for the quadratic equation 2x> + Kx + 3 =0
have equal roots.

X — 3T IR I8 95 = IR S (2, —5) AR (—2, 9) ¥ AT &I |
Find the point on the x - axis which is equidistant from (2,-5) and
(2,9).

5 cm 39T & Us g UR Ul &1 el Y@y Hify S iRER 60° & BIo7
R gDl B

Draw a pair of tangents to a circle of radius 5 cm which are Inclined
to each other at an angle of 60°.

S ST HA8al 6 m 3R 11 m & T | 99 YA W TS & | Al
g7 el RRT & 4 &1 g 12 m 81 1 39 Ul RRI & 4 & g
1T DI |

Two poles of Heights 6m and 11 m stands on a plane ground. If
the distance between the feet of the poles is 12m. Find the distance
between their tops.

S Hhard gal @ Y 5cm AT 3 cm & | g5 gd B S Siar dl
RIS ST DISTY ST BIC g DI Wl Bl 8 |

Two concentric circles are of radie 5 cm and 3 cm. Find the length
of the chord of the larger circle which touches the smaller circle.

afe P(E) = 0.05 =1 a1 ‘E 980", &1 urafdedt @1 g ?
If P(E) = 0.05, what is the probability of “not E” ?

Teh ORI Pl U dR Hebl STl & FHferRad ol rad o=l ol yrafeber sira
P |

1) U 3T HeT 2) TP fawdq \n

A die is thrown once. Find the probability of getting

)aprime number i) anodd number.
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qrT—& Section B
FHIAROT Dby 2x +y-6=10
4x -2y -4=0
DI YTHRACQE F &l DI |

Solve the following system of linear equations graphically :
2x+y-6=0
4x-2y-4 =0

3xV+6x3 - 2x%2 - 10x - 5 & 3 ¥4l gD Sd dIfoly afe g8 <l

W\/%_ Gﬁ?—\/%_%\*l

Obtain all other zeroes of 3x* + 6x*- 2x? - 10x - 5, if two of its

Zeroes are \/ 5 and—\/ % .
3

AP :3,15,27,39, cceeeieeeieeeeenn. BT HIF AT I8 SGD 549 I 9 132
31 BT ?

Which term of the AP : 3, 15,27, 39, ............. will be 132 more than
its 54th term?

2 tan? 45° + Cos? 30° - Sin? 60° &1 919 31d HIFIT |
Evaluate 2tan?45° + Cos? 30° - Sin? 60°.

ﬁ-@’ W CosA 1 + SinA _
1 + SinA + Cos A 2 Sec A.

Prove the identity —£0A 4 1454 _ 5 Gec A,

1 + SinA Cos A
I AT BT AFH F1d difory foraa o g0 %9 7 (-4, -2), (-3, - 5),
(3,-2) &R (2,3) &
Find the area of the quadrilateral whose vertics, taken in order are
(-4,-2), (-3,-5), (3,-2) and (2, 3).
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Find the coordinate of a point A, where AB is the diameter of a
circle whose centre is O (2,-3) and Bis (1, 4).

v st ABC & 9o BC R 1 fag D 39 UeR Red © &
ZADC = ZBAC z| fe@rgy f& CA?=CB.CD 2|

D is a point on the side BC of a triangle ABC such that
ZADC = ZBAC. Show that CA? = CB.CD.

15 cm 3T 9Tel U 9d &l BIg Siidl dbes 9 60° BT BT fdRe Bl

Y| W AY e & eEwa o @) (0 1) AR
V3 =1.73

A Chord of a circle of radius 15 cm subtends an angle of 60° at the
centre. Find the areas of the corresponding minor segments of the
circle.

(Use m=3.14and V3 =1.73)

Yol 4 cm dTel @ & UAd DI A
1 cm 331 arel 9d &1 U Iqare
BHICT AT & d21 49 | 2 cm A
@ TP gd ¥l Pl T[T g o fh
mapfa # <eriar A 71 B oAy
YT DT &ABel ST DITOTT |

From each corner of a square of
side 4 cm a quadrant of a circle
of radius 1 cm is cut and also a
circle of diameter 2 cm is cut as
shown 1n fig. Find the area of

the remaining portion of the
square.
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U eIl Udh A aTdl 9 360 km @1 31 d9 &<l & | K 98 da1el 5
km/h 3ifere g1l o g8 S A H 1 G HH THG Wl | XSS! B Aled
S DI |

A train travels 360 km at a uniform speed. If the speed had been 5
km/h more, it would have taken 1 hour less for the same journey.

Find the speed of the train.

AIFR & SMER W Yeb TR VT H 4 m 3R 9 m Bl g0 R Rerd a7 fawga
A IR & IR & =199 ST ’Rep 1Y o1 2 | Rig difoig 6 H9R &
S98 6 M B

The Angles of Elevation of the top of a tower from two points at a

distance of 4 m and 9 m from the base of the tower and in the same
straight line with it are complementary. Prove that the height of the

tower 1s 6 m.

i AT RISt @1 T Aol BT o g QT Yolall & il & ANT & a_TaR
B A1 ggell Yol &1 A HIvT TSIV BIaT & | Rig dIfig |

In atriangle, if square of one side is equal to the sum of the squares
of the other two sides, then the angle opposite the first side is a right

angle. Prove it.

gl I aTaT U T 14 cm S91S dTel U Ud & (0D & IMBR B
2| GFI gaAThR RRT & &RF 4 cm 3R 2 cm 2 | 39 Re &1 akar gird
PR |

A drinking glass is in the shape of a frustum of a cone of height 14
cm. The diameter of its two circular ends are 4 cm and 2 cm. Find

the capacity of the glass.
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70 25 f=IfeIRaa arfdmsl &1 Aedd 525 B | Ife IRARARI &I JIT 100 B, O X
3R y &1 AF ST DN |

I AR IR
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

The median of the following data is 525. Find the value of x and y,
if the total frequency is 100.

Class Interval Frequcny
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4
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